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e The following chart shows the concentration of butyl chloride, C4HqCl, as a function 4

of time when it reacts with water according to the following equation:
C4HoCl(ag) + H0(l) —» C4HeOH(aq) + H'(aq) + Cl(aq)
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Determine the instantaneous rate of reaction when [C4HoClI] = 1.0 mmol L™.

Answer:

Determine the instantaneous rate of reaction when [C4HoCI] = 0.5 mmol L™.

Answer:
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What is the order of the reaction with respect to C4HoCI? 4

Answer:

How long would be required for the concentration of C4HsCl to reach 0.01 mmol L™?

Answer:
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